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MTB>Name c3=’FITS1’ c4=’RESI1’
MTB>Regress C1 1 C2;
SUBC> Fits ’FITS1’;
SUBC> Constant;
SUBC> Residuals ’'RESI1’.
Regression Analysis
The regression equation is
y=-9.90+0.0753x
Predictor Coef Stdev t-ratio p
Constant -9.896 1.689 -5.86 0.000
X 0.075302 0.001925 39.12 0.000
Analysis of Variance
SOURCE DF 5SS MS F P
Regression 1 17633 17633  15630.29 0.000
Error 22 253 12
Total 23 17886

MTB> CORR 'Y’ ’FITS1’

Correlations (Pearson)

Correlation of y and FITS1 = 0.993

MTB>LET K1=(1/(COUNT(’Y?)-2))*SUM(((’Y’~='FITS1’)/ FITS1’)**2)
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MTB>LET K2=SQRT (K1)
MTB>PRINT K2

Data Display

K2  0.0806097
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